EREOABASL I REERLTHERPABPLB LS EAR

. BarKB D36
#8EH KX % prpp D3693
KARAE R B ERRAE AN TRT EAT M - Aftmmast 1 K

1. Please explain following terms
(a). Rational Method. (5%)
(b). Time of Concentration. (5%)
(c). Rating Curve. (5%)
(d). Specific Retention. (5%)

2. Please explain how to estimate the 100-year event from 50 years daily maximum streamflow
data. (15%)

3. The 40-minute unit hydrograph tabulated below is for a watershed.

Time (min) 0 20 40 60 80 100 120 140 160
UH (cms) 0 6 16 26 28 18 9 3 0

(a). What is the watershed area? (6%)

(b). What is the direct runoff hydrograph (DRH) that would be observed from the following effective
rainfall data? (24%)

Time (min) 0~40 40~60
Effective rainfall (cm) 0.5 1

4. The inflow hydrograph of a reservoir is tabulated below. When t =0 day, the storage (S) of the
reservoir is 30 m3/s/day and the outflow (Q) is 0 m3/s. Please calculate the outflow of the 3 day
when At = 1 day and the relationship of outflow (Q) and storage (S) is shown as

1,28 28
—(=—=+0-100 == 4+0>100
g HO-1) jor +0

0=
0 otherwise
Time (days) t 0 1 2 3 4 5 6 7 8 9
Inflow (m3/s) O 12 24 38 50 40 30 20 10 5 (20%)

5. Assume the annual maximum streamflow of a station is normal distribution. The median of the
streamflow data series is 850 cms. The standard deviation of the streamflow data series is 120
cms. Please estimate the 2-year designed storm event? (standard normal random variable Z:
7<-0.84,P=02;Z<0,P=0.5;Z<1,P=0.8413;72<2,P= 0.9772) (15%)




